a6
28848

Multiplier par des puissances de dix ( nombre
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manquant )
Nom: Date: Note:

7,35 % = 7350 9,236 X = 02.36
7, 839 % = 783.9 9,576 % = 95.76
3,032 % = 3032 1,299 x =12.99
6, 118 % =61.18 7,036 X =70.36
5, 38 % = 5380 6, 322 % = 63.22
2,09 x =20.9 1,509 x =15.09
7, 749 % =774.9 1,95 % = 1950
5,256 X = 5256 5, 349 x = 5349
5,401 x = 540.1 9, 368 X = 0368
7,983 % = 798.3 2,458 % = 2458
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Multiplier par des puissances de dix ( nombre
manquant )

7,35 x 1000 = 7350

7,839 x 100 = 783.9

3,032 x 1000 = 3032

6,118 x 10 =61.18

5,38 x 1000 = 5380

2,09 x 10 =209

7,749 x 100 = 774.9

5,256 x 1000 = 5256

5,401 x 100 = 540.1

7,983 x 100 = 798.3

Date: Note:

9,236 x 10 =92.36

9,576 x 10 = 95.76

1,299 x 10 = 12.99

7,036 x 10 =70.36

6,322 x 10 = 63.22

1,509 x 10 = 15.09

1,95 x 1000 = 1950

5,349 x 100 = 534.9

9,368 x 1000 = 9368

2,458 x 1000 = 2458
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